Esempi calcolo somma di
convoluzione



x(m)

h(m)

1

20




x(m)

h(m)




x(m)

h(-=m)

1

20

1




x(m)

h(-=m)

+ 00

y(©) = » x(m)h(0—m)

m=—oo




x(m)

h(1 —m)

+ 00

y) = ) x(mh(l-m)

m=—oo

11




B 2 3
. ]
h(2 — m) .
1]
o :
y(2) = mzwx(m)h@ —m)




x(m)

h(-=m)

1

20

1




x(m) ZI
10
h(—=1—m) ZI
1T 1?
_11
y(-D= > x(mh(-1-m)

19




	Diapositiva 1: Esempi calcolo somma di convoluzione
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4
	Diapositiva 5
	Diapositiva 6
	Diapositiva 7
	Diapositiva 8
	Diapositiva 9

